JK TempO 2017

Station 1

|

1A-FTI|& O|F
2 A-FlH | & o|C
3Ia-F |)= Z
4 A-Flv|D| A =~|E
5 |A-F A\ 0| Z

* Correct flag
* Incorrect flag
> Zero control
v Viewing point

1:2000

z&




JK TempO 2017

Brunel University — Station 2

_ -
)

5 [ |
Q«'}" QT e

N
AN

6 A-FIN | 4 O | Z
7T AR [A O|F
8 A-F | | & -O|B
9 A-F[H]A 0|z
10 |A-F|l— | A Qlz

* Correct flag
*Incorrect flag
° Zero control
v Viewing point

1:2000




JK TempO 2017

Brunel University — Station 3

1MAaF | B
12 |A-F|—| A V4
13|A-F| |O D
14|A-F| |J\|— V4
15|A-FN |l | A

* Correct flag
* Incorrect flag
* Zero control
v Viewing point

N 1:2000




JK TempO 2017

Brunel University — Station 4

16|A-F| |O O|C
17 IA-Fl<| A Ol|A
18|A-F|—| A | A = |E
19|A-F |O Oz
20A-Flv | A | A =|Z

* Correct flag
* Incorrect flag
° Zero control
v Viewing point

1:2000




JK TempO 2017

Brunel University — Station 5

21

T

A-F

22

T

A-F

23

A-F

24

A-F

25

\
=3l |l | >

A-F| |

{11 |<]<]C
mlw|N[N[N

* Correct flag
* Incorrect flag
> Zero control
v Viewing point

1:2000




JK TempO 2017

Brunel University — Station 6

26|A-F| T |~ Q|F
271A-F | A Q|D
28 |A-F| 7 |3 Lz
29A-F | 112
30 |A-F|< |3 Llc

* Correct flag
* Incorrect flag
> Zero control
v Viewing point

1:2000




